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BT SO SHTS (NG 72| AB, T 80% 6 (X9 LI

Question: | SYTHIG (=11 STXEE ey =

ﬁﬂ AR log 2=10.30
log3=048

A 200 s

B: 323 s

C: 467 s

D: 532 s

Topic: Chemistry-Section A

Item No: 65

Question ID: 1449665

Question Type: | MCQ

weT® HOT i (MU SR A5 (N6TIe A W< WGl S R 261
fofzs =TI
BT A:S@N (19 25 981 I3, FEMIART AIFIS I6IE A9 091, 2

Question: (G ©TF ATZS e WP (TS (A (7T I
FIE R: TGS 731 999 [I9119® Fo19 41 ({639 91 (o299 51291
I E R R ECACCEEAC]
8999 Gferq W, (Waf@EEs [Sege 279 @y bes 9y Gfaed|
A: A [ R AL o) T R T4 AT &% Y|
B: A I R GLHC 9 S R, AS &7 U V= |
C: A o] [$F R 995 |
D: A TNET (% R T |
Topic: Chemistry-Section A
ltem No: 66
Question ID: 1449666
Question Type: | MCQ

Question: 41g TF SIS 920 BN AE TF TS FH J01 a9 8599, T
A: Al

B Ga

C: Se

D In

Topic: Chemistry-Section A

Item No:

67




Question ID:

1449667

Question Type:

MCQ

Question: 41g TP 2E RETFI20S (O00 YF] NHEFT 1 [NHEFT FH 4=, 7

A: Al

B Fe

C: Pb

D Zn

Topic: Chemistry-Section A

Item No: 68

Question ID: 1449668

Question Type: | MCQ

Question: RGUGH (AFHRG W ARGFIRG ABIRAY AKATHCAGS 6T
[P aTE e (=1 Groady =6

A: Mn*", H,0 WIg

B: Mn*". H,0 T4

C: Mn*", H,0, 0, NIJ

D: Mn*". H,0. O, WIq

Topic: Chemistry-Section A

Item No: 69

Question ID: 1449669

Question Type: | MCQ

SET® HOT Gfer (MR SR AGT *GTHe A W< SI=I6! B9 R =RE1E
fofzs s =4
5T A: LiF HNIe % (33¢) 79|

Question:
HIEY R: I57 LF] IR WTNOLP LiT WITAT STIA % A2 00F
T, (2 PIEA ACIROLE BN GG I |
3999 Ofwrd WeTwe, [WHEAES [ege 99 ©% Ses JR Glesd|

A: A ¥ R LU0 o) W1 R T AT &% 40|

B: A W[F R LU0 7o) WP R. AL ®&% 14T w27

C: A 9] 5@ R o079 |

D: AT 5% R 97|

Topic: Chemistry-Section A

Iltem No:

70




Question ID:

1449670

Question Type:

MCQ

OeT® {01 Gier (R WITE 5T [N*6THIe A ST SI=IG! €9 R Z6d
fofzs s =«
T A: 9% AR 961 =1 afgs|

Question: FIE R: 95 ARG G H W (56 FE (F1=[10F1 1919 451 0H-
512 FE ¥ H 9w AR Ao
8999 Gferd AT NAFES [REgT € WE1Eels ST Bod 1%
oferad|
A: A (I R GUIG1 5T9) <6 R X' A &% 01471
B: A S R JUNG1 59) &6 R, AT &% 1L <= |
C: A ] 53 R o9 |
D: AT 5% R 97|
Topic: Chemistry-Section A
Item No: 71
Question ID: 1449671
Question Type: | MCQ
Question: 4Tg GifbeT (I THNRFRIY T
A: K;[Cu(CN),]
B K, [Cu(CN)4]
C: K;[Fe(CN)y4]
D K ,[FeClg]
Topic: Chemistry-Section A
Item No: 72
Question ID: | 1449672
Question Type: | MCQ
SIABT - I F OIADT — I1 9 (0O [N BT
BIEESH OIfeT=RT 11
GLURES |
Question: A. TYGITYE RSkl
B. 5 W AT SAH IL T4 (T I8
c.[d9re 4rg TI1. AT S
D. (57G TV. IR GUATsl
RS [T 99 &7 58F AR Oeed




A: A-IL B-III. C-IV. D-I
B: A-IL. B-1. C-IV D-III
C: A-I. B-IV. C-II. D-III
D: A-I. B-IV. C-I1I. D-II
Topic: Chemistry-Section A
Item No: 73

Question ID: 1449673

Question Type: | MCQ

[UPAC NGO NGNS FrTFATAST WG To AANFoR &5

Question:

SR R
A — COOH > — CONH, > — COCl > — CHO
B: — SO;H>—COCl>— CONH, > —CN
C: — COOR>—COCl>—NH,> >C = 0
D: — COOH > — COOR > — CONH, > — COCl
Topic: Chemistry-Section A
Item No: 74

Question ID: 1449674

Question Type: | MCQ

Question: fafef4® (WU @G G5E 451 GHIESe w29 2

N %/I
| s,

.~ NH,
D: |

RS
Topic: Chemistry-Section A
Item No: 75

Question ID: 1449675




Question Type:

MCQ

Question: (BB (W5 ARfGH GrAAHNGI FIdfeis ARG e
A: e
B (I GIRAGT (AN FIEG
C: (NI 2T
D 2 a2 (e
Topic: Chemistry-Section A
Item No: 76
Question ID: 1449676
Question Type: | MCQ

i

_ B10 —C—Hit — CH,cH,oN W DIBALH o feris —cyHs)
Question: =T (it} H,0
8931 [RIGFIIET @R 9 27 Groass (FH1|

A OHC — H,C g CH,CH,CHO

0
8. ol

' EtO — C — H,C @ CH,CH,CHO

0

c: I .
: EO - C ugcﬁ CH,CH,COOH
D: OHC — H,C Q CH,CH,COOH
Topic: Chemistry-Section A
Iltem No: 77
Question ID: 1449677
Question Type: | MCQ
fafEls Rt I o Rerss sy o d
NO, OH

Question:

J— ¢

NH, :




A HNO,, Fe/H". HNO,. KI, H,O/H"
B: HNO,, KI, Fe/H™, HNO,, H,0/ 9%
C: HNO,, KI. HNO,. Fe/H™, H,O/H"
D: HNO,, Fe/H . KI. HNO,. H,0/aT¥
Topic: Chemistry-Section A

Item No: 78

Question ID: 1449678

Question Type: | MCQ

Question: JI99 OIS ARGRA $91 =Y 4B 3% 5199 i
A: WIER(OW ST BEEN

B fofem o geree

C: EROH T GAwE

D frer fom are BrEfEw

Topic: Chemistry-Section A

Item No: 79

Question ID: 1449679

Question Type: | MCQ

Question: S®3 BRS =61 W J5T WY

A: LRy EG T

B B G

C: AEFH (G

D TAEEATABON

Topic: Chemistry-Section A

Item No: 80

Question ID: | 1449680

Question Type: | MCQ

eT® 5T BeF (AN WITR 6T *5TAIe A W< |-G F199 R Ze1E
fofzs Far = |
fRe5Taf& A: fEsoIfa 457 pH (RS 5153, (T afeee 53e 31992

Question: WIS IR VTS S 799 |
FIEY R: ETFAAEAT 61 74 ARG, SRR NS [FCAGH ~=A|
w7 [Apg QIfg Sfeaan

A: A T R LHIB] 5To) ST R X5 A &% Q0747 |




B: AT R RO @) WP R, AT &% 14T =7
C: A o) 5% R @Tes |

D: AEPTe] {58 R 9T |

Topic: Chemistry-Section B

Item No: 81

Question ID: 1449681

Question Type:

Numeric Answer

27°C O 6 bar @ 61 0.0125 m’ {9 T VOF HG® 461 10 ¢ T F2GUGH
e =i fes 99 = e | e REass s e g |

Question: g
s SR : R=8.3 7K mol™?
(H ST Hed NIARKP ©F 1u WTF 4u IAFN)

Topic: Chemistry-Section B

Item No: 82

Question ID: 1449682

Question Type:

Numeric Answer

6T 485+ I S ©IRN| SFCGR NS FARS ZAFA TR UGS

ueston: ‘a’% (AR OGN WM | ‘2’ I N ZA |
Topic: Chemistry-Section B
Item No: 83
Question ID: 1449683
Question Type: | Numeric Answer
fRfsFEeR I

H,F>(g)— Hi(g)*F»(g)
27°C © AU=—59.6 kI mol ™!

Question: R B I e i A O o i o e | PO R R kJ mol™!
[MFEOT =e 534
frrs =g : R = 8.314 TK ~!mol™!|

Topic: Chemistry-Section B

Item No: 84

Question ID: 1449684

Question Type:

Numeric Answer

Question:

wfamye fRTarsT J197 A T 1 Vool 599 BoelleHhd ORu" 2 3 K| (53 599
AT 2 VeI H31 FEN18HT TN =67 6 K | Ky, W K T WS Ky /K 2
4P CRICEG |




Topic: Chemistry-Section B
Item No: 85
Question ID: 1449685

Question Type:

Numeric Answer

(IS 20 mL 0.02 M Z2Y' B, 10 mL F4E G0, TR 6 A2/
BT Afofew K1 T GAEfo® TGN9~e 970 2. Cu’™ T Nelf<5 CHT

G| < 1072 M.
Question:
s =R : 2 Cu?™ + 4T — Cu,l, +1,
I,+28,0; »2I+ 5,07
Topic: Chemistry-Section B
Item No: 86
Question ID: 1449686

Question Type:

Numeric Answer

e R Groaar B © 451 TN S$970 (WITNET A6 S0
301 |

tion:
Question C,H:OH + PCly —C,H:Cl +A
A+ PCI3 —B
Topic: Chemistry-Section B
Iltem No: 87
Question ID: 1449687

Question Type:

Numeric Answer

MnF ;. MnF; W< MnF, § NG, =M@=l GII N6l A5 (9579 g

Question:
R SIS W B B.M. [NS0ON T2 5
Topic: Chemistry-Section B
Item No: 88
Question ID: 1449688

Question Type:

Numeric Answer

ﬁwmﬂwm—cwwmﬁgc@ﬁ@mﬁ

Question:

§14) I T
Topic: Chemistry-Section B
Item No: 89
Question ID: 1449689




Question Type:

Numeric Answer

CH;CH,MgBr ¥ 100 mL ¥ 4GT [N 157 [[Aa31 S0 STP W 2.24

Question:
mL ¥ 45T (5TR B A H(F| BEAH (2 (5] ©F =°H mg.
Topic: Chemistry-Section B
Item No: 90
Question ID: 1449690

Question Type:

Numeric Answer

Question:

i~

P
7 7R gfeEhes T

T, (T ELES

e e e e

WIS, (R R G, T

=
=
]




